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Read carefully INST RUCTIONS FOR THE CANDIDA.TES given on the front page and
answer the following questions: . -

1 | The electron affinity of chlorine Is 349 kJJrnol. What Is tbo cmct

lurrnltlun of chloride?
A Ci(s)+e —Cr(s)+349k) C. Cli(s)+34
[B. Ci(g)+e —Cl(g)+349 kJ D. Ci(g
2" | Which set of slements has the -tmngutt-nd lons In thelr gaseous
State? - e
A- U Na, K _ . o il
- | B. Be,Mg,Ca : : ' D.* 0,8, Se
3" | Out of these diatomic mn:mum C, u,.o,, F.whlchhum:xlmumbondorﬂ"
A C ' C. N;
. 18.- O, D._F;
4 | Which nftlnfollowlnn Ionl would hav-trnumllutlonlc radius? .
A O _ ‘ —
B. gg" ] D N" s
8 wmwﬂwmmmmmm
{1 A Unear, sp C. Tewmii 3.’ -
B. TMEE : 1 D. imidal,
6 | Whichstatement does not explain why ¢ Mhlm.ﬁpw
| A, They have the same number of valence | C. They tend 0 have the same -
electrons " electronegativities
B. Trmu\dhhmﬂnlarmddaﬂon D. -mmbmmmmw
|  number reactivity
T | What Is the emplrical formula for a compound ttut:untllm ﬁazﬂhydmgonmdu.ﬁl%
carbon
A CsH : : . C CH, ' - !
B. CiHs D. CyHe )

8 | Uncertainty In position of apzriicleof20g lnlplg‘l Is 10™ m. Hence, unw-t:lnty In
velocity (m s') Is ( Planck’s :nnst:ht. h=6.6x10"" Js)

A 25:10 ] _ C. 30x10
B, 22x10° D. 35x10>
9 |The nwnb.ornfndlal nudnofu ll‘ld 2purbthlsmmgccﬂvoly
A .30 : - . ]¢€..0,3 ¥ .o -
- |B. 2.0 ‘ . |D._2.1-
10 Th-nkmuffuurqmnhmnumbtu of valence slectron of an-element are n=4, |=0, m=0
m.-mz.mmmentuh _ T .
AV ' 1.C.. Na.
[B. K_ D. S¢-
1 Whhaﬂ%nmh«dpmmhmﬂﬂ
A -V y C. + .
B. |l ' D.
12 Whlchmnfﬂnfoloﬁmlsnotlfonnnfdlﬂnktlbondlng?
A Covalent bonding C. lonic bonding
B. Hyti'ooeﬂbonclng ____:I:l Hetalcba-;qiu ]
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:?Hmmnﬂﬁﬂﬁﬂlﬂﬂrn“nuganm'.mm‘ ;]
Electrons In orbi around nudiel lose c
eherg sl . Quantum theory Is not applicable to the
T e Slowly - : ultra-structure of an atom.
H_ El trona : -_. . ; . . R
only Gertain ound a nucieus can have D. Noneofthess. - | :
Dk CCUpY Cartain specific arbits. at
e R
| ML of the solution r?ff NaOH In solution prepared by dissolving Its 2g In water of 250
DT — T T e
. {h' Wave function ¥ (ps)) . — D. 0.02molL” :
Represents partic) "~ ’ .
asgglated th: vy i C. A large value of psi squared indicates the
B. Ris not related 1 D : ____slrong possibility of the parlicle’s presence
Broglia wayes - U2ntum theory and de [ D. A small vaiua of psl squared indicates the
116 | Th : — Strong possibility of the particle's presence
A s wm accsleration and tangentlal acceleration Is? :
B. : . C. | .
17 Aﬂr:j_lu-ﬂu _ .~ - |D. 180" : |
o i iIPOlltlonﬂctornf. cle - = A Lt p: e .
sccaloraton of the partcle i ba - 1 4] +20ks the
A ndid - . - ‘s . g C. 5mfs!_ » {
- B. 1oms® . B N
A mortar shell ' — these .
ehat s fired witir the velocity of 10 mvs at an angle of 45°, Calculate range of | .
A, 9m T — : v }
15 t0zm —— g' ::;:ﬂ ' |
A rock Is reloased from the to : :
[ pofave h cliff, oy
rﬂl :l;u m;sﬂr:t 7 seconds of its fuigﬂl“?'g(h:::"m:?:n:mt:lgnhfw iy th? rock
.L5m : . 1
C. 2401 m
B. 602
20 [ If')"Is the nn:umunt of Inertla znd 'E* | th D. _None of these : |
Its angular momentum will be 3 f klmtlt: energy of rotation of a body, then
& - MED ‘ C. El '
e il .
21 'E. l ZE] — D.  2el)
‘Acircularthin disc of mass 4 kg has g d .
inertia about an axl ing throu 4 diameter 0.4 M. Calculate the momen
(in kgm?) S pass 9 gh the edge and pempendicular to the phmmnf the ;I::
A 024 SN T — .
B. 0.8 — ' B
: D. None of the ' . !
22 Amunddhcnfmnmmtufhrﬂ:l,‘mh . 88,
- - axis perpendic
e oy bk e e o e o, I o
of discs Is: ' ® final angutar Velocity of the combination
A il +1) - T w — a
23 i-:-nrtll::a r;:i with constant angular mome —L,,,D' ,mo‘ ol
e arm -
A.  Torque will be non zero but constant. C. | *hm::nmmmm ::5%
' paraliel 1o each other P 2oeMent are
= ]
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B Torque will be zero. D. None of these

24

" tha pressure of an Ideal gas Is docreased by 10%, Isothermally, then its volume will

1B

A~ Increase by 11.1% N C.

Increases by 9% r
B. _Increase by 10.1% D. _None ofmmw | ¥
26 | Translational kinetic energy for one mole of the gas, Is equal P
' -l
& _2RT C. 32kT 7
B. H RT D Hﬂ - a {l r.
26 | For the propagation of llectm-mam € waves, Electric and ma -
A._ Osdlatuparalldtoeachullmm ch other and also
pupermaular to the direction of light
B.  Osciltate perpendicular to each other
and also to the direction of light - P
27 | What is not must for the propagation of Electromagnetic waves
A, medium C. _elactric field :
B.  magnetic field D. acharge “ouil
28 ::L:u;: ;gun;a:':" u:f ::E. Is ?Hrn:tnr than that of K. If both the surfaces are Iradiated with
o mmdphotmlmmlnﬂnmmrﬁuum ared to-
the K.E. of the photoelectrons in the K surface will be P
A Less : .| C. More
- | B. Same - _ - | D. Cannotbe detarmined -
29 | The Half Life of a radioactive substarice Is 6 hours. After how much time will one elghth
of the radioactivity in a sample remain? - - : i
1A 12 : C. 15
% WL | : |D. 24
30 | The Radioactive Decay Law ks c:q:rmod by . !
A =a hanh:rmn C. a quadratic function
B. a llrn.laoidal function D. an exponential function
3 Iflﬂ:ﬂ l:lu:ni:_.t.'(n.r)a'b"lsmlh ; : ]
_"""'*:Iﬁ'—
A Abe 233 - _{C. 0
B. n_.** ' ~ - | D. None of these + .
32 | Let S(K) = 14345+4...cuureccrncanenns Kvvesinnial +(2K-1) = 3+K?, Then which of the following Is .
true? )
A.  S(K)does nntlrnplyS{KH} . ‘| C. 8§(1)ls comrect |
B.  S(K) Imply S(K+1) D. ::ﬂn t:f mahﬂam Ir;ducﬂm can
prove ula
a3 Lctu.ndpmth-mturmuonx’-m=o then @™+ g™ = e ™
A - ; ' e 1
B. 2 i D._-2
14 | i a>0, b>0, >0, then (a+b)(b+c)(c+a) Is greater than
A 2(a+b+d) C. _atbto) ﬁ
B~ Sike . D. 8abc :
35 | Total nunwoffuw digit odd numbers that can be formed using 0 1.2.3.6 7 are
" IA 218 C. 400
38 | tan9® + tan81® +tan27* +tan63° = '

S

e it L R W e e W
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et
A .. b
37 | In a trtangle ABC, cosA + 2cosB + cosC W2 '
T s
B. G.P. ’ A i horizo
38 | A Nagstaff 10m hl-ghltand:ltﬂuuntrlﬂ_mh;_ ' “rﬂ_lfi'"ﬁ"-""":f':.mmnt
ﬂHtopo{ﬂnﬂlmﬂnlchlldnlubm i 0 et e
triangle Is . :
A 6Y3- -,
B. 4% ... '
a9 Thloqu:uonouln'x+:ai‘x-lhnlndloluﬂonlrlxﬂ
A 05zasi .- - c.-1::=1
B. 025<as1 =~ . - D. 05803,
40 | If 2ec20 =tand + cotd, then a value of B+ Is i
A mR ' : C.-nid
B. w4 D. N
41 lfChT:tunﬂueﬂonofMM]hxiﬂlmﬂhﬂhuﬁwﬂmdclnymmmh
1A 20 C. 45
B. 245 : =, D._4 i _i -
42 | Theclrcles X +y =9 and X' + (y5) = 16 - - '
A Touch each other intemally . C.” Do not intersect
B. Touch each other extemally . D. Cutorthogonally
43 | The axis of the parabola, 9y" — 16x ~ 12y~ 67 =0 —=
A dy=2__ Gy F—
B. 16x+61=0 D. None of these ‘

The eccentricity of an elilpse, wlth Its centre atthe ©
x=4, then the equation of an ellipse Is

rigin Is 0.5. Ifnnuofﬂwdinch-lcﬂh

A 42+ =12 C. ad+4y’=1

B. 3d+4y’=12 D. 4C+3y" =11

45

The locus of the equation, (xX+y?) (X'+y +xty) =0 Is

A Astraight line

C. Adrdle with centre at origin

B. A dircle through the crigin D. None of these

If sin-* x + sin~'(1 — x) + cos™* x = 0 then x Is equal to’

46
A 0. C. 2
B 1 D. None of these
47 | Matrices A and B will be Inverse of each other only If
A AB=BA - C. AB=0,BA=I|
B. AB=BA=0 D. None of these .
in two dimenslion Is . |
“ Almﬂ:;gh C. both triangle and rectangle
: mdmﬂ" ) _ D.- none of these

' 6|"Pag;
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49 | d’x
E}-i- equal to
A @ rey\? g -3
@) @ > R®
B.  (dy\ dy\~? D. rdy\™
(&)@ (&)
60 _[:n sin'x dx equal to ffd‘-:,:
A X | C. © 76" ;
4 6 S S e
8 = D. X .
2 3 7"
51 | Amla (gooseberries) Is the richest source of which vita Pt
A Vitamin A ' C. .
.| B. VitaminB D
52 | Which of the following elements Is a metal?
A S C.
| B. Se D. Ga
63 | Indlan Constitution was amended for the first Uime In — ]
A - 1850 C. 1851
B. 19852 ' D. 1953 . . '
64 | Which of the following states has the largest representation In the Lok Sabha?
- A.  Bihar | C. Madhya Pradesh
B.  Maharashtra | .D. Utiar Pradesh
65 | Which one of the mmmmnummpnmuw
A. ___Thése are highly polished C. These are monolithic
B.  The shaft of pillars Is tapering inshape | D Thesa are parts of architectural
56 | The river most mentioned In earty Vedic literature s —
A.  Sindhu C. Sarasvati
B.  Sutudd D. Ganga -
57 | 10 cats caught 10 rats In 10 seconds. How many cats are required to catch 100 rats In 1 00
seconds?
A 100 C. 10
B. 20 : : D. 50
58 | Choose the correct alternative to fill in the blank space that will continue the samo
attorn. '
4.9, 13, 22, 35, e ]
A 57 C. @3
B. 60 , D. 75 .
69 | Which of the following was a recommendation of Hunter's Commisslon?
' A.  Women's education ' C.  Gradual withdrawal of state support from
higher education
B.  New regulation for the organized D. lnlmdu:ﬂonddvlcoduclﬂonitmlluga_ 2
- senates system and university level | -
60 | Choose the correct meaning of the phrasa/idiom- 5 2
| Smoll a rat . T :
A.  To act unfaidy o C. Tnlnwmumfu!tﬂm
7|Page
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61

B. To talk boastfully

?
Whore was the final match of Cricket World Cup 2016 held

A. Meboume . .
B. Wellington , _ ~

62

Who Is the Chief Minister of Gu]lut?'
A. Narendra Modl

63

B. Anandiben Patel : h = -
\What Is meaning of underiined Idiom In the following WW'H‘ e

| am afrald he Is buming the candlo & ends and rulnin

C. Wasting his money

'™ monut! D. Losing his objectives

B.  Overtaxing his

a nce? ' _
64 | What [s meaning of underiined Idloml‘l::‘:': 'T:::dﬁ?ﬂ:;n;ﬂ Suah & lone! .
‘ ed soclety of today no u hers _
:-lh. ;?$ unaffected - * C. + ::U without the h::dd
B.  Survive in Isolation D. Remaln non-ulig.
a is = sacred river,
B A ﬁemm ' C. An
B. A D. Nonﬁ
66 | Gandhl ]I on charkha every day. L
A~ was spinning e P | C. hqdipm .
B. spins = D:_spun
. best player | have sver met. :
67 | Thisls p T — &
:f :\e ) D. None of these -
: : to which | am as$0cC
brother foothall In the same club
¥ :7 play . . | C. played
B plays D. lsplaying —
69 | John says, " shall go there™, indhct_ nl‘mﬂon form of this untmc!h s
A John said that he went there. C.. John says thathe here.
3 B.  John says that he will go there. D.. John sald that | will go -
70 I";:bart will szy to me, "l am your tlassmate™. Indirect narration form of this '-n'; o
Ai “Robert will tell me that he Is my C." Robértvsll tell me that ha will be my
' S ! . . dassmats.
8 ﬁ:::::l tell me that he was my D.' .Robert said me that he Is my c.la:.'_.rnate.
| dassmate. - s |
71 | The second harmonic component of the periodic waveform ?Ivm in the.figure !u: an
] amplitude of - " . ‘
B -
0 C. 2.
e D. 5.
72 |LVDT isa . e ‘
; resistive transducer. D. None of thesa.

e e P
-

e —
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IB

te voitage has to
73 | For the operation of enhancement-only N channel MOSFET, value of ga .
b. .
_ C._high posttve
;: ﬂ:;mﬁﬁu “ﬁJ%”EﬁF“”
74 | For standatd TTL logic clrcults, the values of V cl VoA v
Vet : D 0AVIN24Y, @
- - . as '
76 IE:I an l:dt:;‘:: :';p. of meter, maximum torque Is pl'udul:_ltf wiion the pr
" | between two fluxes Is —
C— ' D 90",
4 B. 45 °, . n L . »
76 | The r.m.s. valua of the current i(t) in the clr;u 1MH below
1‘3 }
I[t! 10
. ¥ +
o (l.ﬁslﬂ,t)N s
AR : Te. N Py
B. 1N2, - - D. o
77 | Plozoeloctric crystals are used for the mmumnma (
AB. temperature. : = ~ :
|78 c;.lmni base partofa transistor behaves like c - m -
A constant Cument source. : . istance
B. forward blased dicde. D. mmofﬂ\ﬂﬂ-
79 Inlgxgmmhftmomﬂmltnr.ﬂuh.dmllh =
voltage coil . C. cument :
g current of volage coil. . mdﬂnm. s i
80 F;:rrmutln-:hutmlmph)'ynuwmﬂdlmdm‘gottlgbu trast cteris
B Luslng_—— e W..ﬂ
% L — | g". ?ﬁw.-
81 (B'i'lvnn h?ri cr.:ugod inductors L, and L, thelr mul:énl inductance M utigﬂas
’ » >
ki M= L} + I-: ¢ M ﬁ‘lL:l
A 1 =
Bty Ms|LL,
; 3 ‘
82 | 1 ra lonization vacuum gauge, In construction, IscﬂmBT;r;: l:'.nn . -
| E. gﬁ m D None of these. -
B3 | A ci'rlla:ndlodt Is l:t'.l.d as : P — ; i
B a rectifief,_ D. a voltage regulator.
84 $im bridge method commonly used for finding mutual hductln:; Is
A Heaviside Campbell bridge. g E&nw 'ge.- '.
85 i'uriu RL-C :Erullt ius R=50 0; L=100 pH and 'O=1 pF. The lower half ;:mr frequency
ofthe ﬂm;us:& . C. 51.82kHz
——*3 'gooss" KHE. ; D, 1.92 ld;lz.
o r nts are of opposite phasa In ’
8 | Thelt lnmht = lever _—_— C. compound gear trains.
27 :umnnhdﬂmu; D. Noneofthese.

—
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87 . 1B
| A diode whose term
inal characteristice are related as i, =j’l[£.]' where [ Is the
Feverse saturation current and V., |s the r
th
mA. Its dynamic resistance g r Srmal voitage (= 26 mV), Is blased at [, =2
A 25 ohms, ———d c
B. _ 12.5 ohms. ' S0 ohins.
o8 The simplified form of th 0100 ohrms.
e Boole
N an expression Y =(4.BC+DJ4.D+B. C)un be
A 2% = N =
e __|% @+D)(B.Cc+D) .
8 AD+B.C.D D. B =
89 | If the distance of el
of screen from a CRT to centre of deflection plates Is 15 cm, the length of
deflection plates of Is 2 cm, the distance betwee % I
voltaga Is 500 V, the deflectlon ety La n plates Is 1 cm and the acce erating
A 332vfc:'n C. 664V/cm.
B. _003V/iem. D. _0.015V/cm.
90 EEMCW-_wdﬂgnqutruamndmdmof
- 0.05 to 100 Hz. C. 5to40Hz
8.  S0W60Hz D. 50 100Hz ,
._401 miu;dlrgdctlnml mndtﬂonhgmtun with a carrier of 3 kHz, the frequency should
A 1kHz C. 600Hz . . —
B. 5 kHz . " D. 2MHz. -
92 | An X —Y fiip flop, vmosa Ctuncw‘lstln Table s ghmn below Is to be hnphlurlhd ullnu
lJ—Kiﬂpﬂop
XY [t
0j0 |1
oj1]a |
1lolq
11110 K
This can be dona by making M.
A JuX. Kul, C JU=YK=X
B. J=XK=Y. D. J=Y,K=X.
93 | The advantage of Varley loop tests over Murray loop tests is
A.  theycan be used for localizing of short C. the loop resistance can be
" drcuit faulls. experimentally determined.
B. they can be used for localizing of earth D. thelr accuracy Is higher.
faults. i
84 | The stroboscopic method of speed measurement has tho advantage that
A ﬂnmaﬂwdhslrnp!ewm&ahl C. astationary image can be observed.
forward . '
B. ﬂ\emmtiplu:olnngulaupeedmba D. -there is no need of any physical
measured. contact between the instrumentand
the rotating shaft.
85 Inﬂndmultohmhlwﬂﬂhm-mmmmwﬂmvauﬂlmmmm
Q and an ideal np—lmpmtmd?
—— - — = - —l\--".—l—'- ) e - s 10 lI:.--a élc—
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o

1k +15V

& j> L_ov

sV ;. ot
-15V :

TA 15 C. 07

B. _-07 : D. 15
96 | Conslder different activitles related to email.
m1: Send an emall from a mall client to a mall server
m2: Download an erhall from mallbox server to a mall client: \
m3: Checking email in a web browser. 7 4{
Which s the application level protocol used In each activity? . - ¥ -~ . -
A m1:HTTP m2:SMTP m3.POP C.__mi: SMTP m2 POP.m3: '
B. m1:SMTP mZFTP m3:HTTP . D. _m1: POP-m& SMTP -.;-;_
[97 - | Which of the following Is NO| aesired In a good Software. F Dl Beddpcdtions
- | (SRS) document? ' 7A L.
"| A Functional Requirements : AC ____"_":'M 50
'l B. Non Functiomal Requirsments D. Aigo _:_, _I plementatic
98 | Consider the following tabje of arrival time and burst time It three processes Po, P1
| Process - Arrival ime Burst Time ‘
PO - 0ms - 9ms
P1 1ims dms © - '
o s g is used. Schedullng s
The pre-emptive shortest job first scheduling algorithm Is
carried out only at arrival or completion of processes, What Is the average
. walting time for the three processes? ‘
A 50ms . C. 633ms
B. 433ms D. 7.33ms -
99 | What Is the return value of the function foo when itls called as foo (513, 2)? |
A 9 C. §
B. B8 D. 2 )
100 ln to lﬁv-l addressing format, the number of notworks allowed under Class C addresses
1 h _ ’ .
[A 214 _ Cc. 22
827 ' D. 224 .
Registor renaming Is done In pipelined processors : .
= A a8 an allemative to register allocation at C. tormndeq-rtalnﬁ'uda_ofhmrds
compile time
8 as an aemative to register allocation at D. as part of address translation
302 | The amount of ROM needed to implement a 4 bit multipller Is
A 64 bits C. 1Kblls °
B, 128bits - . . D. 2 &:QL —
103 Whlchoftfnlolloﬂ'lngmm:uTRUElboutm. “.Iqu lllpag;
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- “GROUP BY
> Py An SQL query can contaln n HAVING clause even If It does not h'“ . ;
clause GROUP BY clause

Q: An'SQL query can contaln a HAVING clausa only If It has the SELECT clause
Rz All attributes used In the GROUP BY clause must appear In the rin tho SELECT

S : Not all attributes used In the GROUP BY clauso ried to appos

Clause
A. PandR C. QandR
B. Pands D. QandS
104 | Tha protocol data unit (PDU) for the lEEli cation layer In the Intoret stack &
A" “Segment C. Message
o i Datagram D. Frame
Rrocess executes the cudn
fork ();
fork ();
fork ();
.. | The total number of child processes created Is
oA 8 C. 7
___|B._4. ~__|D. 8

. Wﬁbh of the following statements is/arq TRUE for undirected. umphs?

'Ps Hmnberofodddcgmwrﬂmlslwm
Q‘Slll'l'lﬁfdﬂgl'm of all vertices Is even.

B Qeny -~ "% T | D. Neither P nor Q
107 | Which ofmnfulkming lsTRUE? '

A EverymlaﬁonlsaNFlsaIsohBCNF' C. EmyrehﬁonlnBCNFhahohaNF

| B. Arelation R s In 3NF If every non-prime | D. 'Nnratahmnanbehbomﬂwww

attibute. of R Is fully functionally

'h-

and their attributes?

dependent on every key of R b
108 | The transport layer protocols used for real time muitimedia, file transfer, DNS lnd omlll.
- respectively are
A._TCP, UDP, UDP and TGP C. UDP, TCP,UDP and TCP
| B." USP, TCP, TCP and UDP D. TCP, UDP, TCP-end UDP
109 | One of the purposes of using Intermediate code In compllers Is to ‘
A’ make parsing and semantic analysis - C. increase the chances of reusing the -
JmP’El' ke machine-independent code optimizer h
T : : other compliers.
: pmve error recovery and emmor . D. ion..
o . _ improve the reglster allocation.
110 | A prime dttribute of a ralatiun scheme R Is an attribute that appelr: ; '.. o
A." In all Candidate keys of R. Y 5 C.. Inaforelgn keys ofR, .
B. Insome candidate keyofRR.. - - 1 D. mlyhtmmmarykgygfn_
111 | In the following palrs of OSI protocol layer/su -
. | INCORRECT palt1s layerisub-layer and its functionality, the
- | A’ Network Iayer and Rnuﬂng . -
) C mpu?iicaﬂon layer and_ End-to-end process
B DaiaLnkLayerandBItsyndwnizatlm D. Medium Aéce
- ss Control wb-hyer
— . Channel sharing L

A. Abstract syntax tree C. Semantic stack

e TR s s e el o o8 o ———
- S

12 [1‘ ag;a-
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1B

B. Symbol table - D. Parse table .
12 Whlchnmofﬂnfnlwhqhﬁnclhdmnppﬂuﬂon? 3
| A. Intemetchat - C. E-mal -
B. Webbrowsing - D. Ping
114 | Which of the following unwmncv :untml protocols ensure both conflict uﬂa.ll.uhﬂty
lndhurﬁmmfhnndbumbck?
1. 2-phase locking
| ﬂmfﬂnporﬂlﬂng- gt
A. lonly DR ' C. Bothlandll
| B. Monly - " | D. Neithet I nor il :
115 | A system uses J page frames for storing process pages In maln memory. It uses the
Least Recently Used (LRU) page replacement policy, Assume that all the page frames.
aro Initlally empty." What Is the total number of page’ fquru I.h.ll will occur while.
processing the page reference string given below? Y
o 47,617.6,1427 2 | . q
A § - i - C. 7 .
8. 8 B D. 9 : C
116 | Which of the following tham tho Opaerator overloading feature InC++ _
A. - Polymorphism | 'C. Message passing
B. Inheritance ' D. BothAandB .
117 Inhnupﬁﬂichmhﬂﬂabdbymlm&ucﬂonlu
[A Intemnal . 2 C. .
. | B. External .- ‘ D. Software
118 mmmaddw-muhmchyu ki AR -
| . .[A  bR-bytes-fleids - record - file - C. bytes- bit- fleld - record - file — database
1. datal : T
Bbllbytunocrdﬁidﬁlo— Dmsumﬂmn-dm.
- - - database ; '
[ 119 Whlchtach:iqmwhhﬁmdboumlshnh]ohmﬂmthopmuncww
the VO devices busy?
A.  Time-sharing - ‘ C. Preemptiva scheduling
B. SPOOLIng D. uulliprogﬂmnﬂng
120 | The approach to software hsﬂnn Is to design test cases to
A. breakthe software . C. analyzulhudeslgn of sub-processes In
- L the software
B. understand the software ' D. analyze the outpu: of the software Read
code modulation system s Analog _
121 fhl::cu:l the f_nlltmqu pulse = Dlmmr!ﬁal S
B. : . G D. Delia , :
s M_.._t_dh:__guoﬂ‘c C.- The hErrurl'lhwhid'lh
A. nnahMUHDiMiﬂlﬁbﬂib I rmh:ﬁl qUNﬂhﬂm
123
" of & super he recetver : s
b E'E“m the receiver itself C. hmwhmmmm
B. I3 nol rejecied by the IF tuned circuits | D. ks Independent of the frequency to which
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the recelver |s tuned

125 | An FM signal with a modulation Index my Is

passed through a frequency tripler. e
modulation index of

A, mf3

wave s of the output of the triplor will have

C. my

B. 3my .

D. 8my

128 | The modulation Index of an AM wave Is cha

n ldhun:ltoLTh-u'In:mlmq ris

A. Unchanged

C. Halved

B. doubled

D. lncreased by 50 percentago

127 | Amplitudo Modulation is used for broadcas

becauss -

A Itis more nolsa immune than other
modulation systems .

C. Compared with other systems K requires
lass

B. Ruse avold receiver complexity

the necessary bandwidth for

128 | In a communications cfstum. nolse Is most likely to affect the signal

hmﬂw__——-——-—“
D. HNo other modulation tystammnp;:vldﬂ

A. Atthe transmitter

C. Inthe channel

B. Inthe Information source

D. Althe destination

129 | Which one of the following Is equivalent to AND-OR realization?

A.  NAND-NOR Realization

C. NOR-NOR Reallzation

B. NOR-NAND Realization

D. NAND-NAND Realization

130 | the minimum NOR gates required to implement A(A+BXA +B+C) la equal to

A 0 : C. 3
B. 4 . B D T
131 | A+BC Is equivalefit to . .
' A (A+BYA+C) - - C. A+B
‘" | B. .A+C - - D. None ; :
132 | To implément y=ABGCD using only two Inpqtmﬂtﬂ.mkdmum r!umhof of. -
requirement of gate Is_- . L s .
A 3 : ' C. 4 .
B. 5 D. 6§
133 umpm-wmammmrhnmmﬂmmm-nﬂn lowest ripple.
=’} frequency In outputis 2 E o ' P
A 25Hz C. 50Hz
B. 100Hz D. 125Hz . .
134 | 1IC 741 and IC 555 are . .
A. Both OPAMP ICs C. OPAMP ICand RegulatorIC
e respectively :
B. PLLIC and TimerIC respectively D. OPAMP IC and Timer IC respectively
135 | Ideal value of CMRRR of an op-amp Is J
‘A -20dB : C. 200dB
B. 2000d8 D. Infintte .
136 | The IC 74LS08Is a -
A. Quad 2 input AND C. lo 8 Input NAND - -
B. Quad2 input OR D. -Quad 2 Input EX-OR
137 | The mothod used for reg lation In an SMPS Is :
: A PPM JO C. PWM
. - |B. _PCM -~ : : D._PAM
_[[738 | The transformer Is actually a
' A Vo tor C. f 80Urce
[B. ampiifier : D. nons of these
139 | Heat sinks are used for ' - |
"A__Heating the ICs C._Sinking transistors in water
B. Increasing weight D. Dissipating heat
140 | Simple Diode Is :
A Active Device - | C._Passive Device

o — = aememt .
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1B
B. Active and Passive Both - " D. .None ofthese - _]
141 | Transistor Is ) AR T .
A.  Active Device Gy C.  :Passive Devica
B. Active and Passive Both D. None of these
-| 142 | All Intrinsic semliconductor are Insulator at
A 300°K C. 0°K
B. Room Temperature D. Very High Temperature
143 | Transistor has lowest output Impedance In .
A. CB C. CC =
B. CE D. CC+CE
1144 | Ina bl r transistor, base Is .
A. __Thin and lightty m C. _Thin and heavily doped
- B. Thick and lightly doped D. _ Thick and heavily doped
145 | Ebers model of a transistor represents two dlodes connected
A.  In Series C. Inparallel
B. Backto back D. None of these
146 | JFET has maln drawback of
A. _Having low Input iImpedance C. _Having high Input impendenca
B. Being Noisy D. Having small gain bandwidth product
147 | The MOSFET switch In Its on state may be considered equivalent to
A.  Resistor C. Inductor .
B. Capacitor ! D. Battery ! " |
148 Avnlancho bmkdm prlmaﬂly andl on the phenomenon.of :
t ] C Im " .
I : B Cmmﬂbn D. Ruuwwuhmkn. |
149 Thamuthﬂydgpﬁn_glonlnlhmhturh ' |
.4 h Bauu

_ C.. Collector. ' -
: ik D. Boﬂ\Enﬂtterﬂcnnm y |
150 Wh}ch of the HM glodo lhﬂ\\" the negativ

o resistance lon?

AP-NMM C. Zener Diode e
1 B. TunneiDiode . :

D. PIN diode
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